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1. &l~WUIl~UfIl% (understanding process) ah
Y
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x + 2~ ~ 66AZ  __ -+ X - 5 sin x
x - l x - 3 cos x

z bhl

A = A2

1=-
2

x h x b
h
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lk&=llaJlwa”uuabnsaaJ6u  = w”u~a4flau
1= z rb, + g rb, + i rb, + + 1 rb "

1
= z r (b,  + b, + b, + . . . . . . . . . . + bn)

1=-
2
rx 2ar

=mxr

:. &ihlaJJ = Tr?

1.x+6=10

1. 2x = 12

2 . 2 x + 6 = 1 8

3. 5x+4=4x+11

4. 7x+3x + 7 =2x+5x + 6 - 3
N

5. ;x - "sx  - 8 = ;x + ;x + 2

6. ;(x  - 1) + ;(x  + 6) = "("5 - 3)
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6. ~(xfl)+;(x+6) = 3 (; + 6)

5. 2x + 1+ 1, + s
3 34 4

=:x+18

4. 2-x + 1, +2- +3
3 4 32

=;x+18

3. $ + ;x - 3
2 3

= '8-3-2

2. @-9x
= 1 0 8 - 4 - g

6

1. x = 95 x '2 = 190
6 7 7

ED 315



r* l2 + 22 + 32 + 4*+..........+ x2 = ; “2
n-1
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El

D

I

G F

.‘.1+2+3+4+5+6+7+8+9 = 9(9+1)  = 9
2 2x10  = 45
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42  = 16 = 32+2(3)+1

51~ = 2 5 = 42 + 2 (4) + 1 .

62 = 3 6 = 52 + 2 (5) + 1

.

.

.
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phi  17’ 3n3[J3-

a b a + b

3a + 3b = 3 (a + b)

yin;  18

’ x!I!xEl xL
4 2 4 + 2

4x + 2x SC X(4 + 2) = 6X
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I t
I

,J=2 i_L__J_

X Y
3x + 2y

(5x + 3y)  - (3x + 2y)
v

o3aanslAtisPla

pl4i  21 5

5

I 1
I 1

- 5
1 I

I

’ x

5x + 5y

$i  20

[ I

I 3

I 1
I 1

14 t
X
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X

1
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X
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x +  5

x-l_II
L _____________ J--;-,--~--L-

ph 2 7 &~dh%JCN  Y 1 trinomial x2+4x - 5 6~ClZWJ%~dl~~ln"~ (x- 1)(x+ 5)

duhnolila~dl~il

x2+4x-5=(x-1)(x+5)

da fKil-;ldil  diadJZflOlJVBd  x*+4x-s do (x-1)(x-5)
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X X’ X2 X’ x x x x

+
1, X X X 1 1 1 1

3x2 + 7~ + 4 = (3x + 4) (X + ij

yJI4 30

2. x2 + 3x + 2 aloii~~drnl~~d~~llJ~

X + 2

X x2 xx

+
1al

X

+
X 1 1 1
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